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Which line in the figure below has a slope of

] If a line contains the points in the table below,
what is its equation?
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If a line passes through the two points below, § Which of the following statements is NOT true
what is its equation? concerning the graph below?
fﬁw 1 Y A} The simplified ratio of the
R T vertical side length to the
[ horizontal side length of each
j i triangle is 1.
- 5 by 3 19 3y 2& 2L 5 . %f:} et 3)\ j"""”'ﬁz""\. . .
B i_”Br)ﬂ;Ehe slope ofthelineis 1
: . h\f at C) The slope of the line s -1
X D} The smaller triangle and the
larger triangle are similar.
A)_y X+ 2 C)y=2x-1
B.y——x+2 D) y=2x+1
Triangle EGH is graphed on a coordinate grid.
f i Part A: - Use the Pythagorean Theorem to find the length
7 of side EF. Showvyourwork. . 5 _ . ..
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EREP SRNNAN N Part B: What is the slope of the line contalnmg EF? What
Bl i s is the slope of the line containing £G? ExpEaln the
A relationship between the slopes of EF and EG. i oonTionc
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1 Part C: Write an equation to represent the line that passes through points E and G, If x=12, in
the equation you wrote, what is the value of y? Show your work.
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